‘ A STORY OF UNITS Lesson 24 Exit Ticket m

Name Date
1. Divide.
a. 273+3 b. 2.73+30 c. 273+300

3(7 ' =273%3%32p = 27333+ pp
° z le ,'._/D ‘]l—'.-IDD

= 0,091 oAl

N

2. 1f7.29 +9=0.81, then the quotient of 7.29 + 90 is 0. D? " . Use place value reasoning to
explain the placement of the decimal point.

Since 729390 can be written as 7.24392 0 , we know its answer
will be (0 +imes smaller +han 7.29+9, So, [0+imes smaller Hran
0.8\ is 0.08

Lesson 24: Divide decimal dividends by multiples of 10, reasoning about the

EUR!KA placement of the decimal point and making connections to a written 331

ATH method.

©2015 Great Minds. eureka-math.org
G5-M2-TE-1.3.0-06.2015



